Physiology Practice Questions For Exam II

1. Voluntary skeletal muscles in the leg are innervated by:

a) postganglionic neurons  b) somatic motor neurons  c) preganglionic neurons  d) CNS fibers  e) all these
2. The pineal body (gland):

a) is in the hypothalamus     b) releases epinephrine     c) releases melatonin     d) controls appetite 

3. Which of these characteristics is not related to the Parasympathetic division of the ANS?

a) Urination     b) Defecation     c) Salivation     d) Lacrimation     e) Posturation 

4. Acetylcholine is released by:

a) all postganglionic autonomic neurons     b) preganglionic sympathetic neurons  

c) all postganglionic sympathetic neurons     d) a and c     e) all of these are true

5. A small motor unit would control which type of movement?

a) fast but brief     b) intense and strong     c) delicate and precise     d) sprinting     e) marathon running

6. Slow-twitch muscle fibers have only one of the following features: 

a) slow onset of contraction    b) easily fatigued    c) many enzymes for glycolysis  
d) a slow refractory period    e) low mitochondrial content 

7. These bands of the sarcomere do not shorten during contraction 

a) A bands     b) H, I and M bands     c) Z discs and A bands     d) I bands     e) a and d 

8. The role of transverse tubules in skeletal muscle fibers is to 

a) connect the sarcomeres to each other    b) binds the myofibrils     
c) quickly spread the action potential

d) connect the sarcolemma to the sarcoplasmic reticulum (SR)    e) bind to the DHP receptors
9. The part of the circulation pumping blood to and from the lungs is known as the ________ circulation

a) systemic     b) pulmonary     c) coronary     d) respiratory     e) hepatic 

10. The plateau phase of the action potential in contractile myocardiocytes is due to 

a) the slow movement of Na+ ions across the cell membrane     b) the influx of Ca2+ ions 

c) the increased membrane permeability to K+ ions   d) the increased membrane permeability to Na+ ions 

e) a decrease in Ca2+ ions diffusing across membrane  

11. The valve between the right ventricle and the vessel that leaves it is the____________ valve:

a) tricuspid AV     b) bicuspid AV     c) mitral     d) pulmonary semilunar     e) aortic semilunar

12. If the connections between the parasympathetic division of the ANS and the heart were cut, then  

a) heart rate would decrease     b) stroke volume would decrease     c) cardiac output would decrease

d) heart rate would increase     e) heart activity would remain unchanged

LAB CONCEPTS ON EXAM II:

1. Define cranial and spinal reflexes. Compare monosynaptic and polysynaptic spinal reflexes.
2. Describe the reaction time ruler experiment (voluntary action) as a reflex arc.

3. How were: a) temporal summation and b) spatial summation tested in Lab? 

4. Explain muscle fatigue using the handgrip experiment in lab as an example.
5. How does heart rate change with body position? Why? How would regular exercise effect the heart? 

Example multiple choice exam questions from Lab:

13. In lab, during the voluntary reflex of catching the reaction time ruler, what was the integration center?

a) skeletal muscle    b) sensory neurons    c) the brain    d) the spinal cord    e) photoreceptors    

14. When we stimulated the muscle in lab and got a single muscle twitch, the longest phase was the: 

a) tetanus phase     b) relaxation phase     c) latent phase     d) plateau phase     e) contraction phase
Answer Key: 

1. b
2. c
3. e
4. b
5. c
6. a
7. a
8. c

9. b
10. b
11. d
12. d
13. c
14. b 
